Sample answers for Writing tasks

TEST 5, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6.5 score. Here is the
examiner’'s comment:

The response covers all the requirements of the task, shows a clear purpose and
uses an appropriate tone. All the bullet points are well covered. Organisation is
logical and there is a clear progression throughout the response. Cohesive devices
are used flexibly. The range of vocabulary is sufficient and appropriate for the task,
and, although there are errors [Houman Resourse | hard driver | at least | metters],
the meaning is still clear. There is a mix of simple and complex sentence forms, -
but complex structures are produced less accurately than simple forms [/ was have
many works should finish by yesterday | ... | couldn’t wait to fix that so long].

Dear Sir or Modom,

I work as a Houman Resourse manager and I do all my work ok home. Few months ago
I needed ko buy exkra hard driver for arrange my all work fUles. I bouaht sony IDDOGB
hard driver from your store in O’connell streek in Moy. I was really hoppy ko use Ehis hd
onkdl Seslr_erdog. Yesterday moming I starkted ko use work flles from hd buk was reading
S0 lonq and ok leask ik skucked 1 kried burn on and off compuker buk skl some and
couldn’t open khe fues.

I was have mony works should funish by yeskerday. Also all of my meeking oppointments
fles wos n khok hd buk oll cancelled because I couldn’® see the kime and places.
Yesterday oftemoon I colled ko your cuskomer service buk khey explained that I have ko
watk 3 working doys.

I have many uraent mekkers in Ehis hd s0 T coudn’t waik ko fix that so \or\e. This hd
have stil o auarqntee.

I have recluesl: ko fix Ehis hd ond recover ol ) fles by todaa\.

I belive you are good and well known company S0 I'm waiking for your besk and user
friendly service as soon as possible.

Thonks and reaqrds
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Sample answers for Writing tasks

TEST 5, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.0 score. Here is the
examiner’'s comment:

The candidate focuses on tourists visiting the desert, rather than on visiting places
where conditions are difficult, so the prompt is not fully addressed. There is an
attempt to discuss some benefits and disadvantages, but ideas are limited. The
response is organised into paragraphs, but the focus of each is not always clear,
while cohesive devices are sometimes faulty [as compare fo] and the subject of
reference pronouns is sometimes ambiguous [Although the conditions are a bit
more difficult in such type of places but they are excited... | The benefits to visit
such areas is that they actually want to ...]. The range of lexis is sometimes limited
[The people discovering the things], yet the candidate is quite adventurous at times

~ [some research about how to survive in deserts | cannel of water | depth | deep |
casualty rate]. There are attempts to produce complex structures, but these usually
contain errors [what is the reasons for that | Although ... but | Here is another
example that ...].

The globalizokion s khe most important kopic for all the people. They want ko know
whok is hoppening around ond whok S khe reasons for thok. The people discovering khe
things and aeti.r\i well awore abouk hiden bhings. The tourisks ore visiking bhe deserts
more as compare ko okher places. Alkhough the condiktions are bik more difficult n such
type of ploces buk they are exciked ko know abouk each and everything.

The benefiks ko visik such oreas is Ehat bhey ackually wonk ko lek people know whak
L5 Ehe difference bebuseen the lLfe in desert and okher normal places. Ik s shown in one
of Ehe australion movie which is cast on a Japanese. In movie the Jopese goes ko
desert. for some research abouk how ko survive n deserts. His cor sktuck inko bhe desert.
He just keeps kry ko gek ook of khere and ok the end he become Succeed. After moving
forard some disktonce he wakch a cannel of waker and he jump inko Ehat waker buk
depth s nok 50 much ond he dies because his neck hit by stone inko the water. So ik
make uS realize bhok when you found a connel in deserts especially firstk moke sure thok
hows deep ik is.

ISecondly, the dLsadvar\tc\aes to visik bthe deserts is thotk the casua\t5 rake LS more

in deserts as compare ko okbher discoveries. When kourists ae ko khe desert, they even
don’k knows eibher Ehey will rebumn back ko home or nok.

The case is thok khe people are going ko desert more because there are more khings ko
discover like mines, minerals, medical reloked preventions ebc. Here LS anokher example
thok once people gok diomonds from desert which was in DAE. They kook ik as pebbles
buk when Ehey came back ko home khey realize thok were diamonds.
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Sample answers for Writing tasks

TEST 6, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6.0 score. Here is the
examiner’'s comment:

The purpose of the letter is clear, but the tone is not entirely consistent [Dear Sir/ |
am not working at the moment and | need some money]. All three bullet points are
covered quite well, however. Information and ideas are arranged coherently and
there is a clear overall progression, with sufficient use of cohesive devices. The
range of lexis is adequate and appropriate for the task [/ really want to work in your
chain of restaurant(s) | working ... as a chef | experience working with other people |
consider my application]. Spelling is generally accurate. There is a mix of simple
and complex sentence forms, and grammatical control is generally accurate.

Deor Sir,

I am Alejondro Garcia, we meb lask week in a plane journey from London ko Manchesker.
I am wriking ko kel you thak I really wonk Lo work n your chain of reskaurant
because I am nok working ok kthe moment and I need some money.

In my last. buwso years I hod been working in restourant as a chef ond 1T have been doin
an Indian and an Ikallon course in a very farmous ocoademy. So f I had ko choose I
would like ko be khe chef. However, if you already have chefs I wouldn’e have problem ko
work as o woaiker

I bhink T will be suitable for Ehis job because I am a very responsible person ond I
have been E,qur\i_r\a very hord ko have a possLbL\Lh3 like Ehis. Also, I have experience
working wikh other people and how ko manage a group.

I hope you would consider my opplicakion. I look forward ko hearing from you soon.
Yours fakhfully
Alejondro Gorcia
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Sample answers for Writing tasks

TEST 6, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7.0 score. Here is the
examiner’'s comment:

This is a well-organised piece of writing, presenting ideas on both sides of the
debate, developing these ideas effectively and also showing the candidate’s own
position throughout the response. Ideas are logically organised and there is a clear
progression in the train of thought. Each paragraph has a clear central topic, which
is developed, and there is effective use of cohesive devices. The lexical resource
is sufficient to allow some flexibility and precision and there is use of less common
items [natural ecosystem | human settlement | engineering projects | the most
extreme supporters of | in harmony with surrounding nature]. There are occasional
errors in spelling and collocation [prominance | heavy debates | go extinct], but
these do not detract from overall clarity. There is a variety of complex structures,
used with flexibility and accuracy, while grammar and punctuation are generally
well controlled. Errors do not adversely affect the overall message.

Presznt\«_.), the problem of o lving Space hos risen inko prominance in many places of
Ehe com(:,rB. There s o‘bso\utela no Loy ko bulld news houses in some cikies, and a
ok of people suggest ko carmy ouk conskruckion in khe countryside. However, ik is a
conkroversial kopic inkroducing heavy debokes.

Opponents of urbanisation of former rural areas skake thok ik would cause a dromokic
effeck on khe nakural ecosyskem of such places. The most draskic consequences are
coused by infraskruckure Ehok necessarily followss any hurmon settlement. — Ehaotk s, roads,
power lines, means of waker supply and such. The conskruckion of Ehose engineering
projecks leods ko desktruckion of nakural bioms of ponds, rivers and foresks, causing
mony onimoals ko migrake or go exkinck. The argumenks of environmenktolisks do make
Sense, buk khere olso voluoble ideas supporking the counkryside occupokion.

Flrst of oll, nok even the most exkreme supporters of spreading urbonizakion mainktain
thok oMl of Ehe counkryside should be filled wikh homes oll over the place. In fack, Ehere
are good exomples of even larger cikies lving perhops nok in harmony wikh surroundin
nokure, buk ok leask in some form of cooperakion. Having a consideroble amounks of
parks inside inhobiked area help both people Lo feel bhemselves betker and planks and
animals Lo have some sork of home. If I oy ko present on example, Ehe th_«j of
Zoporizhia where I live has a large islond bebuxen kthe parts of the ciky which is
covered wikh krees and largely unoccupied, being a nice counkerpart ko heavily populated
nearby diskricks.

In conclusion, T would like ko skress that while opponents of countryside setklements
have many valid poinks, the situakion is nok as drastic as khey porkroy ik, and the
co-existence of human population wikh nokure s quike possible.
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Sample answers for Writing tasks

TEST 7, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.0 score. Here is the
examiner's comment:

The response addresses all three bullet points, but the ideas that are presented
show little development. The purpose of the letter is clear, however, and the writer’s
position is given at the end. Information is presented with some organisation and
some basic linking devices are used [Firstly | Secondly | In facf]; there are also
examples of simple reference words [this team | This solution | this case]. The
writer would need to use a wider range of cohesive devices to achieve a higher
score here. There are attempts to use a range of vocabulary [obtain | advertising
campain/campaign | maximum savety/safety | alhcolic/alcoholic beverage/s | in
according/accordance with the Council], but these usually show errors in spelling or
word formation. Other errors could cause some comprehension problems [sctisfect/
satisfied? | challenging/competitions? | sujection/subject? possibility? proposal? |
reguilty?]. There are attempts to use complex sentences [/ would explain in witch
ways, you'll be obtain ... | sponsoring a sport children team | We could mixte with...
when the team need... ], but the level of error is high and can cause some difficulty
for the reader.

Dear Sir or Madom,

/»\ccord'ma ko your lekker, I'm very grokeful ond sckisfeck, by you confidence. I would
ev.Main in wikch ways, you'l be obq',c\i.r\ a good feedboack from khe general public.

Flrstly, sponsoring a spork children keam could increase khe numbers of visitors (fFor
exomples, quua. friends), ond olso khe level of Ehis kteom, ond check kthe place koo. We
could mixke wikh an c\dverti.s’u\a compoin uwhen khe keom need ko move for chq\ler\s'ma.

Secondly, we have anokher sujeckion ik’s creake kuo open-oir concerts. This solukion
have o big advontoge, because a lok of range of people could beneficited.

We can offer a \arge range of free ikem included. Buk ik’s bhis cose we requilky a
maximum Saveky of people ko conkrolled bhe side and avoid alhcolic beverage. Ik's very
huso. risk for evrgl:hi.r\a and we need Lo have in according wikh Ehe Councd.

In fock, I prefered ko give my advice for khis sponsorised local children, is very a good
mork for bhe communiby and for khe further customers.

I’'m qun(:Lr\a you respond soonery and I’ hope ko expose dearly my wiev poink.

Best regords,
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Sample answers for Writing tasks

TEST 7, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6.0 score. Here is the
examiner's comment:

The response addresses all parts of the prompt, although the idea that children
should learn how to occupy themselves on their own is not as fully explored as

the first part of the prompt. Even here the candidate only mentions educational
activities organised by teachers: a stronger response might consider other types of
organised activities, such as sports teams, dance or orchestral groups, which could
develop other aspects of a child’s growth. Ideas are organised, however, and there
is a clear overall progression. There is some effective use of signalling devices
[However | On the one hand | On the other hand | For instance | To sum up] and
other examples of cohesive devices are also used [such events | during this time].
Paragraphing is signalled, though not consistently. The range of vocabulary is quite
wide and shows awareness of collocation [participate in group activities | schedule
their time | current generation | give them permission to | encouraged to attend

| in certain circumstances | spare time | supervise children], but there are rather
too many errors for a higher band here [intellegent | possitive | throght/through |
destinguish | recieve]. The use of [kids], repeated twice as [kinds] is not appropriate
in this type of response. There is a mix of simple and complex sentence forms and
although errors occur, they rarely reduce communication.

In koday’s world many people kend ko believe Ehok children should better participoke
in group ockivikies khak orgonised wikh cerkain purpose by keachers or kheir porent.
Howsever, others do nokt agree and 5uﬁaest thok kids become more Lr\te\\eeer\t whilsk
occupy khemselves as in kheir fukure lives children will have ko schedule bheir time.

On kthe one hond, I musk odmik thaok keachers have much more experience and knoudedge
in how ko omuse pupils and provide bhem wikh some useful educakion ok the some ktime.
In Ehis cose socieky con counk on School workers as they help ko bring up good change for
current. aer\era(:i.or\. Porents shoud give bhem permission ko occupy kheir children’s free kime
wikh orgonised group ackivikies ond provide oll possible help. Children have ko be encouraged
ko okkend in Such evenks as itk have possikive conkribokion in kheir studying process.

On khe other hand, in cerbain circumskances parenks should lek thelr children o plan
port of thelr spore time by themselves. For instance, kinds have ko be wise abouk hows
ko schedule their kime ok khe evening when no okher ackivikies are avalloble. Buk skil
porenks should supervise children during Ehis kime in Order ko nok lek Ehem play video
gomes all night Ehroght..

To sum up ik s imporkonk ko nokice khok children in kheir young ages ore nok so
self-confident ond inkellegent ko deskingush whok s useful for bhem and whok is nok.
Thok s why keachers parents should alwoys participake in ackivikies which kinds
involved in. TO help khem recieve more useful knowledge during khetr childnhood.
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Sample answers for Writing tasks

TEST 8, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7.0 score. Here is the
examiner's comment:

The letter opens with a clear statement of purpose and goes on to address each
bullet point, covering the first and the third at some length. There is room for
expansion of the second bullet point. Information and ideas are logically organised,
following the bullet points, and there is a clear progression throughout the
response. There is a range of linking devices [as well as | due to | What is more |
In addition | which leads to | Needless to say | Taking everything into consideration
| Moreover | Finally], although not all of these are strictly necessary. There is
evidence of less common vocabulary [outline | improvements | implemented

| spacious | overcrowded | beneficial | advantageous] and use of collocations
[expressed their dissatisfaction | image of a company | first impression). There are
only occasional spelling errors [reseptionist | equipt | sesirelly], but the meaning is
always clear (the position of [sesirelly] makes it clear that [sincerely] was intended).
A variety of complex grammatical structures is used flexibly, while control over
grammar and punctuation is good, apart from the use of a full stop rather than a
comma in the phrase [area.due to the fact thaf].

Dear Mr Smikh,

I am wriking ko ouktline the complainks thak have been made abouk khe recepkion area
as wel as ko suseesl; Several iLmprovements ko be implemented.

A number of visikors expressed kheir dissokisfockion wikh our compony’s recepkion
area. due ko the fock thakt Lk s nok spocious and overcrowded. Whot s more, Ehere
are nok. enough desks ko fll in khe vorious forms. In addikion, only one resepkionist
con be addressed ko wikh a greok number of questions which leads ko the ploce being
overcrouxded.

Needless ko soys bhe area where visitors arrive is exkremely importont as ik is the
tmage of a company ond gives khe firsk impression obouk Ehe organizakion.

Tak‘uxa everbl:.hl.na inko considerakion, ik is "‘LSHB recommended Lo widen the recepkion
area by using the room nexkt ko ik

Moreover, ik would be beneficial ko equipk khe place wikh addikional fumikure for
visikors ko use. Funally, hiring a second recepkionisk would be definikely advonkageous.

I om looking forward Lo bhe changes beina implemented.
9 9 9 P

Yours Sesirelly,
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TEST 8, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.0 score. Here is thé
examiner’'s comment: :

The candidate identifies some positive and negative aspects of the topic, but does
not offer any conclusion, which weakens the effectiveness of the response. The
ideas presented are not always developed and or relevant ([celebrities making
marketing with this products | local shops may be big factories in the future]). Ideas
are organised into paragraphs and there is some use of linking devices [Nowadays
| Ussually | that's why | instead of | all of this], but there is a lack of overall
progression because there is no conclusion. There is some good use of vocabulary
[outlet | popular stores | local shops | promotions], but spelling errors are noticeable
[differents | Ussually | demande | diarectly | youlyour home | clossing]. Errors

in word formation also occur [exportation | this/these shops] and there is first
language influence in the use of [Fabric] instead of [factory] which could cause
some comprehension problems. There are attempts to use complex sentences, but
errors in grammar and punctuation are frequent. The punctuation errors can cause
some difficulty for the reader.

Nowodoys Ehere are differents ways ko buy clokhes, buk ik s known Ehat people love
ko go shopping, khe problem is khak some store thok are near ko our home doesn’t have
the clobhes we like, 50 we need ko go for away ko a big outlek, where we cun find
popular skores even if we have local shops wikh qualiky clokhes.

Ussually Ehe big stores are populor because bhe demande of khe producks Ehaok’s why the
Fobrics are ouvkside khe cikies, IF you go dLarech\_L) ko a Fabric itk s easier For you ko
find o promokions or producks khak ore more cheop, instead of going ko a store thak
s close ko you home wshere, sometimes ik s more expensive because they bring Ehe
clothes ond khe kransportakion or Lf we are kalking abouk an inkemokionol produck Ehe
exportakion. Most of khe people prefer ko save some money going ko khe principal skore.

The negokive aspeck of all of khis s thok a lok of local shops are clossing, khoks why
the:_, ore crethr\a prc?.'\ects that help bhis locol stores, some componies are inveskin

in Ehis shops by pukking them a lok of markeking khok help khe shops ko be popular
and Fomous, bhis s really help'u\a the shops, a ot of celebrities and famous people are
moking markeking wikh Ehis producks and making them a popular produck. So now Ehis
local shops moy be big fackories in khe fukure.
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